CATALOGUEUB

SAN-O-SUB MBE srl

SANO-SUB MBBia L. da Vinci, 168 - 20090 Trezzano sul Naviglio (Mi) Tel. Via Leonardo da Vinci 168 , 20090 Trezzano sul Naviglio
(MI) - ITALY - WWW.SANOSUB.COM



mailto:sanosub@sanosub.com
http://www.sanosub.com/

SAN-O-SUB MBB srl

W SANOSUE.O0M

SANO-SUB MBB was born from the experience of 35 years gained in the field of EqQuipment for
Technical Gases, Pure Gases and Medical Gases.

SANO-SUB MBB was created to respond to¢batinuous demands of the market and to promote
in Europe and in the world an experience accumulated in 70 years of completely Italian production
activity.

SANO-SUB MBB is in fact, a mechanical company with production headquarters still in Italy,
foundedin Milan in 1934 by the Marchetti family for the production of industrial gearboxes and
acetylene bone welding and cutting devices.

60 YEARS OF EXPERIENCE IN DIVING PRODUCTS, PIONEERIRG QOIWHHEATHING
APPARATUS Experience born from the refdtiprin the military field for the ability to produce
customerspecific products.

In 1960 it specialized in the manufacture of equipment for the underwater and medical sector, in
1999 it expanded its production capacity in the field of high ancgl@ssure equipment for
technical, medical and pure gases.

The 1S0900413485 quality system adopted by S@NUB MBB is guaranteed by decades of
experience in the production sector, by the "made in Italy" and by the collaboration with prestigious
bodies,ncluding TUV and BUREAU VERITAS for the certification of the materials produced.

SANO-SUB MBB is represented worldwide with local customers and distributors

Islanda —~

wm
‘ 53.0,-9,&(\/_ § o . Russis
D0 - ,
c 1 R“’"‘Q) \/ao N 2 /
anada \ DAl ﬁo\ J‘ P p - . )i
2 \ s Lo M
. S _ = —*—~a/\°))))%n’m‘ Kazakist = ¥ b
*»9 o \{ ‘V/‘\‘\ v Fakiaten Mongolia )
5 S At 1
= ) sioiuvni ‘ o \ov' '\QQ q)a 2 9 S ; G|°m= OCLB
E st Ocean Atlantico g \ 9 g D cina " core, o
9 settentrionale Q/ (Qiraq. . Alohanis ‘9 g i
= — Algeria .. Egittd Pakistaa O BN 9 :
i Q" @ =R O |
- Ml Niger Sudan 9 2y 3
- Ciad 7 9»\' :
ezt Nigeria Etiopia 3 \ :
Colombi e - S v \9 ] L
_____________________________________________________________ T e iy Ky O el . e e
| B= 3 0 Indonesia R =
\ - Brasile 2 o
- P Angola
Bolivii s
, e @) G Oeaane
_ Oceano SHsv\y Indiano Australis
;eanc Pacifico Cile Atlantico ° =
Meridionale Meridionale Sud¥frica 9

We manufacture all valves using stamped brass CW 617 N certified. The valves areypretcisel
using the latest CNC technologies and then protected with nickel and chrome plating, then
assembled and qualitatively checked with special calibration equipment by our experienced staff.
The valves are CE EN250 and PED CE 97/23 approved and deel sufiphll the necessary
declarations. All valves are equipped with gaskets and are assembled with edgmeatible
lubricants.

SANO-SUB MBBR/ia L. da Vinci, 168 - 20090 Trezzano sul Naviglio (Mi) Tel. +39 0248490209 r.a. - sanosub@sanosub.com www.sanosub.com 2


mailto:sanosub@sanosub.com
http://www.sanosub.com/

SANO-SUB MBBR/ia L. da Vinci, 168 - 20090 Trezzano sul Naviglio (Mi) Tel. +39 0248490209 r.a. - sanosub@sanosub.com www.sanosub.com

BREATHING AIR VAL\WEIBxX1,5- M25x2SUBUN!I

DIN232BAR

Code
VS.127.10046

Code
VS.160.10064
VS.160.10029

Code
VS.327.10071
VS.327.10072

Code
VS.200.10177
VS.200.10182

Code
VS.511.10082
VS.511.10081

Code
VS.164.18039
VS.164.18039A

Code
VS.268.10188

Code

VS.500.10009
VS.500.10006
VS.500.20006
VS.500.10007
VS.500.10002

Code

VS.400.10227
VS.400.10189
VS.400.10209
VS.400.10211
VS.400.10212

Description

SAN - O - SUB MBB

W SANOSILIB.O0M

MONO VALVE RIGMI8X1,5 EN144 232 BAR

Description
MONO VALVEX M25x2 EN 144 232bar
MONO VALVEX M25x2 EN 144 232bar

Description
SIDE VALMEX M25x2 EN14232bar
SIDE VALVEX M25x2 EN144 232bar

Description

MONO VALVBXTWINM25x2 EN144 232bar
MONO VALVEXTWINM25x2 EN144 232bar

Description
SECOND OUTLET FOR RIGHT SIDE
SECOND OUTLET FOR LEFT SIDE

Description

IN LINE VALBK M25x2 EN144 5/8" 232bar
IN LINE VALBK M18X1,5 EN144 5/8" 232ba

Description
TWIN VALVEI25x2 EN144 232bar

Description

MAINFOLD W/O ISOLATIQN0 @:140mm
MAINFOLD W/O ISOLATIOR1:171mm
MAINFOLD W/O ISOLATIORO0 &:180mm
MAINFOLD W/O ISOLATIQN3 &:203mm
MAINFOLD W/O ISOLATIQRO @&:220mm

Description

COMPLETE MAINFQUR5x2 EEN144 |:150mm
COMPLETE MAINFQUR5x2 EEN144 |:184mm
COMPLETE MAINFQUR5x2 EEN144 |:190mm
COMPLETE MAINFQUR5x2 EEN144 1:213mm
COMPLETE MAINFQUR5x2 EEN144 |:230mm

@:140m
@:171m
2:180m
@:203m
@:220m

3


mailto:sanosub@sanosub.com
http://www.sanosub.com/

SAN-0O-SUB MBB srl

W SANOSILIB.O0M

Code Description
VS.529.10090 MAINFOLDS WITH ISOLATIONI:184mm @:171mm 232bar
VS.529.10099 MAINFOLDS WITH ISOLATIONI:190mm @:180mm 232bar
T VS.529.10088 MAINFOLDS WITH ISOLATIONI:213mm @:203mm 232bar
& #
. — VS.529.10092 MAINFOLDS WITH ISOLATIONI:230mm @:220mm 232bar
Code Description
e VS.400.10195 COMPLETE ISOLATION MAINPOLD M25x2 EN144 1:184mm
."“-—L, gl ;ji'- @:171mm 232bar ISOL
VS.400.10208 COMPLETE ISOLATION MAINOLD M25x2 EN144 1:190mm
@:180mm 232bar ISOL
VS.400.10194 COMPLETE ISOLATION MAINOLD M25x2 EN144 1:215mm
@:203mm 232bar ISOL
VS.400.10219 COMPLETEISOLATION MAINFOLD M25x2 EN144 1:230mm

@:220mm 232bar ISOL

Cod. artlcolo description

1010 MILLED WASHER W3/16

1008 SPRING KNOB(1.4x14.6x13)SX

1081 LONG BLACK RUBBER KNOB

1006 ANTIFRICTION WASHER NYLON KNOB
1026 PAKING NUT G3/8

1005 SHAFT SEAL GASKET-MA'2JNF

OR105N O-RING OR105 NITRILE

1004 STEM FOR M12x1.25

1022 GUARNIZIONE RAME PAKING NUT W3/8
1012 PORTAPASTIGLIA M12x1.25 COMPLETO
9004 KIT RIPARAZIONE M12X1.25

OR116N O-RING OR116 NITRILE

1028 RACCORDO SECOND STAGE ch8 SCUBA
1156 TAPPO FOR LATERWAREX1,25 NUOVO MOD.
1039 TUBETTO PESCANTE M6x0.75 OTTONE
ORAN19N O-RING AN19 NITRILE 4100 90 SH

SANO-SUB MBBR/ia L. da Vinci, 168 - 20090 Trezzano sul Naviglio (Mi) Tel. +39 0248490209 r.a. - sanosub@sanosub.com www.sanosub.com 4


mailto:sanosub@sanosub.com
http://www.sanosub.com/

SAN-0O-SUB MBB srl

W SANCSUB.00M

BREATHING AIR VAL\WEBx1,5M25X2
SUB 300 BAR

Code
VvS.109.10118
VS.109.10118DX

Description
MONO VALVE SX M18X1,5 EN144 300BAR
MONO VALVE DX M18X1,5 EN144 300BAR

Code
VS.109.10116
VS.109.10102

Code
VS.309.10134
VS.309.10133

Code
VS.200.10173
VS.200.10183

Code
VS.549.10130
VS.549.10129

Code
VS.164.18042

Code

VS.500.10009
VS.500.10006
VS.500.20006
VS.500.10007
VS.500.10002

Code

VS.529.10090
VS.529.10099
VS.529.10088

Description
MONO VALVE SX M25x2 EN144 300bar
MONO VALVE M25x2 300BAR DESTRO

Description
SIDE VALVEDX M25x2 EN144 300bar
SIDE VALVESX M25x2 EN144 300bar

Description
MONO VALVE DX TWIN M25x2 EN144 300bar
MONO VALVE DX TWIN M25x2 EN144 300bar

Description
SECOND OUTLET FORLEFT SIDE300bar
SECOND OUTLET FORRIGHT SIDE300bar

Description
IN LINE VALVESX M25x2 EN144 5/8" 300bar

Description

MAINFOLD W/O ISOLATION:150 @:140mm
MAINFOLD W/O ISOLATION:181 @&:171mm
MAINFOLD W/O ISOLATION:190 @:180mm
MAINFOLD W/O ISOLATION:213 @&:203mm
MAINFOLD W/O ISOLATION:230 @&:220mm

Description

MAINFOLDS WITH ISOLATIONI:184mm @:171mm 232bar
MAINFOLDS WITH ISOLATIONI:190mm @:180mm 232bar
MAINFOLDS WITH ISOLATIONI:213mm @:203mm

232bar
. VS.529.10092 MAINFOLDS WITH ISOLATIONI:230mm @:220mm
232bar
Code Description

VS.400.10224
VS.400.10191
VS.400.10236
VS.400.10234
VS.400.10186

MAINFOLD M25x2 EN144 @&:140mm 1:150mm 300bar CAN
MAINFOLD M25x2 EN144 @&:171mm 1:184mm 300bar CAN
MAINFOLD M25x2 EN144 &:180mm 1:190mm 300bar CAN
MAINFOLD M25x2 EN144 &:203mm 1:215mm 300bar CAN
MAINFOLIM25x2 EN144 @&:220mm 1:230mm 300bar CAl

SANO-SUB MBBR/ia L. da Vinci, 168 - 20090 Trezzano sul Naviglio (Mi) Tel. +39 0248490209 r.a. - sanosub@sanosub.com www.sanosub.com 5


mailto:sanosub@sanosub.com
http://www.sanosub.com/

SAN-0O-SUB MBB srl

W SANOSILIB.O0M

Code Description

VS.400.10237 MAINFOLD M25x2 EN144 @:140mm [:150mm 300bar ISOL

VS.400.10213 MAINFOLD M25x2 EN144 @:171mm [:184mm 300bar ISOL

VS.400.10238 MAINFOLD M25x2 EN144 @&:180mm [:190mm 300bar ISOL

VS.400.10231 MAINFOLD M25x2 EN144 @&:203mm [:215mm 300bar ISOL

VS.400.10240 MAINFOLD M25x2 EN144 @:220mm [:230mm 300bar ISOL
" o Cod. artlcolo description

1010 MILLED WASHER W3/16

1008 SPRING KNOB(1.4x14.6x13)SX

1081 LONG BLACK RUBBER KNOB

1006 ANTIFRICTION WASHER NYLON KNOB

1026 PAKING NUT G3/8

1005 SHAFT SEAL GASKET-MA2JNF

OR105N O-RING OR105 NITRILE

1004 STEM FOR M12x1.25

1022 GUARNIZIONE RAME PAKING NUT W3/8

1012 PORTAPASTIGLIA M12x1.25 COMPLETO

9004 KIT RIPARAZIONE M12X1.25

1156 TAPPO FOR LATERALE M22X1,25 NUOVO MOD.

1039 TUBETTO PESCANTE M6x0.75 OTTONE

ORAN19N O-RING AN19 NITRILE 4100 90 SH

SANO-SUB MBBR/ia L. da Vinci, 168 - 20090 Trezzano sul Naviglio (Mi) Tel. +39 0248490209 r.a. - sanosub@sanosub.com www.sanosub.com 6


mailto:sanosub@sanosub.com
http://www.sanosub.com/

>

-)

SANO-SUB MBBR/ia L. da Vinci, 168 - 20090 Trezzano sul Naviglio (Mi) Tel. +39 0248490209 r.a. - sanosub@sanosub.com www.sanosub.com

BREATHING AIR VAL\ESBM25X2 M18X1,232

SAN-0O-SUB MBB srl

BARBARREL

Code
VS.354.10280
VS.354.10281

Code
VS.354.10147
VS.354.10148

Code

VS.254.10177Q
VS.254.10182Q

Code
VS.511.10097
VS.511.10096

Code

VS.500.10030
VS.500.10031
VS.500.10032
VS.500.10033
VS.500.10034

Code

VS.529.10100
VS.529.10094
VS.529.20007
VS.529.10095
VS.529.20011

Code
VS.400.10235

VS.400.10228

VS.400.10222

VS.400.10233

VS.400.10239

Description
VALVE LAT. DX M18X1,5 232 BAR EN144 BARREL
VALVE LAT. SX M18X1,5 232 BAR EN144 BARREL

Description
SIDE VALVESX M25x2 EN144 232bar BARREL
SIDE VALVEDX M25x2 EN144 232bar BARREL

Description
MONO VALVE DX TWIN M25x2 EN144 232bar Q
MONO VALVE SX TWIN M25x2 EN144 232bar Q

Description
SECOND OUTLET FORRIGHT SIDE232bar
SECOND OUTLET FORLEFT SIDE232bar

Description

MAINFOLD W/OISOLATION BARRELI:150mm
MAINFOLD W/OISOLATION BARRELI:184mm
MAINFOLD W/O ISOLATION BARRELI:190mm
MAINFOLD W/OISOLATION BARRELI:215mm
MAINFOLD W/OISOLATION BARRELI:226mm

Description

MAINFOLD ISOLBAR FOR TWIN TANKS @:140mm |:150mm
MAINFOLD ISOLBAR FOR TWIN TANKS@:171mm |:184mm
MAINFOLD ISOLBAR FOR TWIN TANKS @:180mm 1:190mm
MAINFOLD ISOLBAR FOR TWIN TANKS @:203mm |:215mm
MAINFOLD ISOLBAR FOR TWIN TANKS @:220mm |:230mm

Description

MAINFOLD M25x2 EN144 @:140mm 1:150mm 232bar
ISOLBAR
MAINFOLD M25x2 EN144 @:180mm 1:190mm 232bar
ISOLBAR
MAINFOLD M25x2 EN144 @:203mm |:215mm 232bar
ISOLBAR
MAINFOLD M25x2 EN144 @:220mm |:230mm 232bar
ISOLBAR
MAINFOLD M25x2 EN144 @:203mm |:215mm 300bar
ISOLBAR

WA SANOSILIB.O0M

7


mailto:sanosub@sanosub.com
http://www.sanosub.com/

BREATHING AIR VALWWES X2SUB 30BARBARREL

Code
VS.354.10282
VS.354.10283

Code
VS.354.10152
VS.354.10151

Code
VS.200.10183B
VS.200.10173A

Code
VS.549.11003
VS.549.11004

SAN-O-SUB MBB srl

Description
SIDE VALVEDX M18X1,5 EN144 300barBARREL
SIDE VALVESX M18X1,5 EN144 300bar BARREL

Description
SIDE VALVESX M25x2 EN144 300bar BARREL
SIDE VALVEDX M25x2 EN144 300bar BARREL

Description
MONO VALVE DX TWIN M25x2 EN144 300bar BARREL
MONO VALVE SX TWIN M25x2 EN144 300bar BARREL

Description
SECOND OUTLET FORRIGHT SIDE300bar BARREL
SECOND OUTLET FORLEFT SIDE300bar BARREL

W SANCSUE.00M

Code Description
VS.500.10030 MAINFOLD W/OISOLATION BARRELI:150mm
L e v VS.500.10031 MAINFOLD W/O ISOLATION BARRELI:184mm
VS.500.10032 MAINFOLD W/OISOLATION BARRELI:190mm
VS.500.10033 MAINFOLD W/OISOLATION BARRELI:215mm
Code Description
VS.529.10100 MAINFOLD ISOLBAR FOR TWIN TANKS @:140mm 1:150mm
VS.529.10094 MAINFOLD ISOLBAR FOR TWIN TANKS@:171mm 1:184mm
VS.529.20007 MAINFOLD ISOLBAR FOR TWIN TANKS@:180mm 1:190mm
e VS.529.10095 MAINFOLD ISOLBAR FOR TWIN TANKS@:203mm 1:215mm
VS.529.20011 MAINFOLD ISOLBAR FOR TWIN TANKS @:220mm 1:230mm
Code Description
VS.400.10192 MAINFOLD M25x2 EN144 @:140mm 1:150mm 300bar ISOLBAR
' @ VS.400.10232 MAINFOLD M25x2 EN144 @:171mm 1:184mm 300bar ISOLBAR

VS.400.10226
VS.400.10239
VS.400.10230

st MAINFOLD M25x2 EN144 @:180mm 1:190mm 300bar ISOLBAR
MAINFOLD M25x2 EN144 @:203mm 1:215mm 300bar ISOLBAR

MAINFOLD M25x2 EN144 @&:220mm [:230mm 300bar ISOLBAR

SANO-SUB MBBR/ia L. da Vinci, 168 - 20090 Trezzano sul Naviglio (Mi) Tel. +39 0248490209 r.a. - sanosub@sanosub.com www.sanosub.com 8


mailto:sanosub@sanosub.com
http://www.sanosub.com/

_SAN-O-5UB MBB

W SANOSILIB.O0M

Cod. artlcolo description

1010 MILLED WASHER W3/16

1008 SPRING KNOB(1.4x14.6x13)SX

1081 LONG BLACK RUBBER KNOB

1006 ANTIFRICTION WASHER NYLON KNOB
1026 PAKING NUT G3/8

1005 SHAFT SEAL GASKET-MA2JNF

OR105N O-RING OR105 NITRILE

1004 STEM FOR M12x1.25

1022 GUARNIZIONE RAME PAKING NUT W3/8
1012 PORTAPASTIGLIA M12x1.25 COMPLETO
9004 KIT RIPARAZIONE M12X1.25

OR116N O-RING OR116 NITRILE

1028 RACCORDO SECOND STAGE ch8 SCUBA
1157 TAPPO LATERALE DX TOROIDALE
1158 TAPPO LATERALE SX TOROIDALE
1039 TUBETTO PESCANTE M6x0.75 OTTONE
ORAN19N O-RING AN19 NITRILE 4100 90 SH

)

SANO-SUB MBBR/ia L. da Vinci, 168 - 20090 Trezzano sul Naviglio (Mi) Tel. +39 0248490209 r.a. - sanosub@sanosub.com www.sanosub.com 9


mailto:sanosub@sanosub.com
http://www.sanosub.com/

SAN-O-SUB MBB srl

W SANOSILIB.O0M

VALVES FOR NITRX8X1,5M25X2SUB 23BAR

Code Description
VS.109.10117A MONO VALVE DX M18X1,5 26X2 NITROX
— 5@& Code Description
g - VS.109.10250 MONO VALVE DX M25x2 EN144 26x2 232bar NTX
- VS.109.10157 MONO VALVE SX M25x2 EN144 26x2 232bar NTX
@J Code Description
i VS.309.10156 SIDE VALVEDX M25x2 EN144 232bar NTX M26x2
VS.309.10155 SIDE VALVESX M25x2 EN144 232bar NTX M26x2
!“g- Code Description
Y &{o VS.200.10187 MONO VALVE DX TWIN M25x2 EN144 NTX M26x2
Code Description
' VS.549.10099 SECOND OUTLET RIGHT SIDBEM26x2 NTX EN144
:::- VS.549.10098 SECOND OUTLETLEFT SIDEM26x2 EN144
L 3
B Code Description
- 5 VS.164.18037 IN LINE VALVE25x2 EN144/3 26x2 232 NTX
¥
Code Description
VS.500.10009 MAINFOLD W/O ISOLATION:150 @:140mm
VS.500.10006 MAINFOLD W/O ISOLATION:181 @:171mm
—_— VS.500.20006 MAINFOLD W/O ISOLATION:190 @:180mm
VS.500.10007 MAINFOLD W/O ISOLATION:213 @:203mm
VS.500.10002 MAINFOLD W/O ISOLATION:230 @:220mm
Code Description
[ VS.529.10090 MAINFOLDS WITH ISOLATIONI:184mm @:171mm
‘m VS.529.10099 MAINFOLDS WITH ISOLATIONI:190mm @:180mm
VS.529.10088 MAINFOLDS WITH ISOLATIONI:213mm @:203mm
VS.529.10092 MAINFOLDS WITH ISOLATIONI:230mm @:220mm
Code Description
. ® VS.400.10225 MAINFOLD M25x2 EN144/3 26x2 @:171mm |:184mm NTX ISOL
e ". VS.400.10225A MAINFOLD M25x2 EN144/3 26x2 @:203mm 1:204mm NTXISOL

SANO-SUB MBBR/ia L. da Vinci, 168 - 20090 Trezzano sul Naviglio (Mi) Tel. +39 0248490209 r.a. - sanosub@sanosub.com www.sanosub.com 10


mailto:sanosub@sanosub.com
http://www.sanosub.com/

e

5B

SANO-SUB MBBR/ia L. da Vinci, 168 - 20090 Trezzano sul Naviglio (Mi) Tel. +39 0248490209 r.a. - sanosub@sanosub.com www.sanosub.com

SAN-0O-SUB MBB

WA SANOSILIB.O0M

VALVES FOR NITR@25X2SUB 30BAR

Code
VS.109.10107

Code
VS.309.10380
VS.309.10381

Code

VS.549.11002
VS.549.11001

Code
VS.164.18037B

Code

VS.500.10009
VS.500.10006
VS.500.20006
VS.500.10007
VS.500.10002

Cod. artlcolo
1010

1008

1082

1006

1026

1005
OR105V
1004

1022

1012

9004
OR116V
1028

1156

1039
ORAN19N

PHE= 01 =BT

Description
MONO VALVE M25x2 EN144/3 26x2 NTX 300bar

Description
SIDE VALVESX M25x2 EN144 300bar NTX M26x2
SIDE VALVEDX M25x2 EN144 300bar NTX M26x2

Description

SECOND OUTLET FORRIGHT SIDEM26x2 300bar
SECOND OUTLET FORLEFT SIDEM26x2 300bar

Description
IN LINE VALVE25x2 EN144/3 26x2 300 NTX

Description

MAINFOLD W/O ISOLATION:150 @:140mm
MAINFOLD W/O ISOLATION:181 @&:171mm
MAINFOLD W/O ISOLATION:190 @:180mm
MAINFOLD W/O ISOLATION:213 @:203mm
MAINFOLD W/OISOLATIONI:230 @:220mm

description

MILLED WASHER W3/16

SPRING KNOB(1.4x14.6x13)SX
MANOPOLA GOMMA VERDE LUNGO
ANTIFRICTION WASHER NYLON KNOB
PAKING NUG3/8

SHAFT SEAL GASKET-MA2JNF

O-RING OR105 NITRILE

STEM FOR M12x1.25

GUARNIZIONE RAME PAKING NUT W3/8
PORTAPASTIGLIA M12x1.25 COMPLETO
KITRIPARAZIONE M12X1.25

O-RING OR116 VITRON

RACCORDO SECOND STAGE ch8 SCUBA
TAPPO FOR LATERALE M22X1,25 NUOVO MOD.
TUBETTO PESCANTE M6x0.75 OTTONE
O-RING AN19 NITRKEDO 90 SH

9004

11


mailto:sanosub@sanosub.com
http://www.sanosub.com/

SAN-O-SUB MBB srl

WA SANOSILIB.O0M

BREATHING AIR VALSBB 3 NPSEB2 BAR

Code
VS.160.10109

Code
VS.361.10126
VS.361.10125

Code
VS.200.10178

Code

VS.511.10082
VS.511.10081

Code

VS.500.10009
VS.500.10006
VS.500.20006
VS.500.10007
VS.500.10002

Code

VS.529.10090
VS.529.10099
VS.529.10088
VS.529.10092

Description
MONO VALVE SX 3/4NPSM 232bar

Description
SIDE VALVEDX 3/4NPSM 232bar
SIDE VALVESX 3/4NPSM 232bar

Description
MONO VALVE DX TWIN 3/4ANPSM 232bar

Description

SECOND OUTLET FOR RIGHT SIDE
SECOND OUTLET FOR LEFT SIDE

Description

MAINFOLD W/O ISOLATION:150 &:140mm
MAINFOLD W/O ISOLATION:181 @:171mm
MAINFOLD W/O ISOLATION:190 &:180mm
MAINFOLD W/O ISOLATION:213 &:203mm
MAINFOLD W/O ISOLATION:230 @:220mm

Description

MAINFOLDS WITH ISOLATIONI:184mm @:171mm
MAINFOLDS WITH ISOLATIONI:190mm @&:180mm
MAINFOLDS WITH ISOLATIONI:213mm @:203mm
MAINFOLDS WITH ISOLATIONI:230mm @:220mm

Cod. artlcolo description

1010 MILLED WASHER W3/16

1008 SPRING KNOB(1.4x14.6x13)SX

1081 LONG BLACK RUBBER KNOB

1006 ANTIFRICTION WASHER NYLON KNOB
1026 PAKING NUT G3/8

1005 SHAFT SEAL GASKET-MA2JNF

OR105N O-RING OR105 NITRILE

1004 STEM FOR M12x1.25

1022 GUARNIZIONE RAME PAKING NUT W3/8
1012 PORTAPASTIGLIA M12x1.25 COMPLETO
1156 TAPPO FOR LATERALE M22X1,25 NUOVO MOD.
OR116V O-RING OR116 VITRON

1028 RACCORDO SECOND STAGE ch8 SCUBA
9004 KITRIPARAZIONE M12X1.25

nar f(;\ 9004

SANO-SUB MBBR/ia L. da Vinci, 168 - 20090 Trezzano sul Naviglio (Mi) Tel. +39 0248490209 r.a. - sanosub@sanosub.com www.sanosub.com 12



mailto:sanosub@sanosub.com
http://www.sanosub.com/

SAN-0O-SUB MBB

WA SANOSILIB.O0M

w—é—y—w

VALVEFORBREATHING AIR S¥BNPSM BARREL
WITH BROKEN DISC

Code

VS.354.10159
VS.354.10160
VS.361.10161
VS.361.10162

Code

VS.500.10030
VS.500.10031
VS.500.10032
VS.500.10033
VS.500.10034

Code

VS.529.10100
VS.529.10094
VS.529.20007
VS.529.10095
VS.529.20011

Cod. artlcolo
1010
1008
1081
1006
1026
1005
OR105N
1004
1022
1012
1157
1158
OR116V
1028
9004

Description

SIDE VALVEX 3/4ANPSM 3/8BARREL C/DISP 5000psi
SIDE VALVMEX 3/4NPSM 3/8BBARREC/DISP 5000psi
SIDE VALVEX 3/4G 3/8P BARREL 300bar C/D 5500ps
SIDE VALMEX 3/4G 3/8P BARREL 300bar C/D 5500ps

Description

MAINFOLD W/@SOLATION BARREBOMmM
MAINFOLD W/GSOLATION BARRHEB4MmM
MAINFOLD W/@SOLATION BARRERBOMmM
MAINFOLD W/@SOLATION BARRRILSmm
MAINFOLD W/CSOLATION BARRER6mm

Description

MAINFOLDSOLBARORTWIN TANK&:140mm [:150mm
MAINFOLDSOLBARORTWIN TANK@:171mm |:184mm
MAINFOLDSOLBARORTWIN TANK&:180mm [:190mm
MAINFOLDSOLBARORTWIN TANK®&:203mm [:215mm
MAINFOLDSOLBARORTWIN TANK&:220mm [:230mm

description

MILLED WASHER W3/16
SPRINBNOB(@1.4x14.6x13)SX

LONG BLACK RUBBER KNOB
ANTIFRICTION WASHER NYLON KNOB
PAKING NUT G3/8

SHAFT SEAL GASKET-MA2JNF

O-RING OR105 NITRILE

STEM FORI12x1.25

GUARNIZIONE RAME PAKING NUT W3/8
PORTAPASTIGLIA M12x1.25 COMPLETO
TAPPO LATERALE DX TOROIDALE
TAPPO LATERALE SX TOROIDALE
O-RING OR116 VITRON

RACCORDO SECOND STAGE ch8 SCUBA
KIT RIPARAZIONE M12X1.25

N
©
Nt

SANO-SUB MBBR/ia L. da Vinci, 168 - 20090 Trezzano sul Naviglio (Mi) Tel. +39 0248490209 r.a. - sanosub@sanosub.com www.sanosub.com 13


mailto:sanosub@sanosub.com
http://www.sanosub.com/

o SAN - O - SUB M

WA SANOSUB.O0M)

BREATHING AIR VAL\&S 3%, NPSWITH BROKEN

DISC

Code
VS.114.10301
VS.114.10303
VS.114.10303N
VS.121.10306

Vs.121 @ Cod. articolo
= 1240
‘ | 1241
-'~_ P d
o] 1242

é]/ 1232

: 1244
1004
OR105N
1005
1233
1006
1081
1008
1010
ORMS14N
ORAN20N
1039
9005

TR

]I@]]u\%f%

Description

MONO VALVE 3/4ANPSM CGAB850 5000psi C/DISP

MONO VALVE 3/4NPSM DIN/K CGA 5000ps C/DISP

MONO VALVE 3/4NPSM DIN/K CGA 5000ps C/DISPNITROX
MONO VALVE 3/4NPSM DIN/K CGA850 5000p C/DISP

description

TAPPO 3/8 UNF FOR DISCRAITURA

DISCO DI ROTTURA 5000 PSI FOR 3/8 UNF
GUARNIZIONE FOR DISCO DI ROTTURA 3/8 UNF
PORTAPASTIGLIA 1/2 UNF COMPLETO
GUARNIZIONE RAME PAKING NUT 11/16 UNF
STEM FORI12x1.25

O-RING OR105 NITRILE

SHAFT SEAL GASKET-MA2JNF

PAKING NUT 11/16 UNF

ANTIFRICTION WASHER NYLON KNOB

LONG BLACK RUBBER KNOB
SPRINBNOB(@1.4x14.6x13)SX

MILLED WASHER W3/16

O-RING MS14 NITRILE 2050 90 SHORE
O-RING AN20 NITRILE (4106)

TUBETTO PESCANTE M6x0.75 OTTONE
KIT1232122410040OR105V10051006

005
5
\\\\‘1‘5&\
| D
| 1005\ 1004 | &

1233 R10¢ 1244 ° .

o
2 |

SANO-SUB MBBR/ia L. da Vinci, 168 - 20090 Trezzano sul Naviglio (Mi) Tel. +39 0248490209 r.a. - sanosub@sanosub.com www.sanosub.com 14


mailto:sanosub@sanosub.com
http://www.sanosub.com/

SAN-0O-SUB MBB srl

W SANOSUB.O00M

BREATHING AIR VAL\& S WITH CAVE

Code

VS.121.10310
VS.160.10115
VS.200.10180
VS.200.10181
VS.361.10136
VS.361.10137
VS.400.10206
VS.400.10215

Description

MONO VALVE 3/4ANPSM+RAC.SCUBA RICAVATO 232b
MONO VALVE SX 3/4NPSM C-CAVA 232bar

MONO VALVE DX TWIN 3/4ANPSM 232bar W/CAVE
MONO VALVE SX TWIN. 3/4ANPSM WITH CAVE

SIDE VALVEDX 3/4NPSM 232bar W/CAVE

SIDE VALVESX 3/4NPSM 232bar W/CAVE

MAINFOLD 3/4NPSM [:184 232bar CAN W/CAVE
MAINFOLD 3/4ANPSM 1:184 232ba ISOLW/CAVE

VALVES WITH RESERVE 3RECIALHREADS

Code
VS.105.10021
VS.105.10024
vs.109.10106
VS.105.10022
VS.105.10025
vs.105.10022A
VS.400.10196

Code

VS.309.10139
VS.309.10138
VS.327.10077
VS.327.10073

Description

MONO VALVE M25x2 EN144 232bar WITH RESERVE
MONO VALVE M25x2 EN144 232bar TWIN WITH RESERVE
MONO VALVE M25x2 EN144 300bar WITH RESERVE
MONO VALVE 3/4 NPSM 232bar WITH RESERVE

MONO VALVE 3/4 NPSM 232bar TWIN WITH RESERVE
MONO VALVE 3-4 NPSM EN144 300barWITH RESERVE
MAINFOLD M25x2 EN144 1:184mm 232bar WITH RESERVE

Description

VALVE LEFT SIDEG25E
VALVERIGHT SIDEG25E
VALVERIGHT SIDEG17E
VALVE LEFT SIDEG17E

All valves are equipped with gaskets and are assembledositipatible FOROXygen lubricantsrhe valves connect to
the tank with 3/4ANPSM fittings and exit with the INT or DIN/INT system. All Sub 3/4npsm valves are DOT &4b06ved
50005500 PSI).

SANO-SUB MBP/ia L. da Vinci, 168 - 20090 Trezzano sul Naviglio (Mi) Tel. +39 0248490209 r.a. - sanosub@sanosub.com www.sanosub.com 15



mailto:sanosub@sanosub.com
http://www.sanosub.com/

SAN-0O-SUB MBB srl

W SANOSIUB.O0MW

EXTRA AIR

Code Description
B0O.400.15230 EXTRAIR 0,5L SET COMPLETO DIRETTO
B0.400.15400 EXTRAIR PRO SET COMPLETO CONHOSES

It works like this: It is a haliter tank withmini-regulator and integrated first stage, demand valve with mouthpiece and
automatic refill valve. Breathing takes place as with a normal regulator and can be facilitated by the purge valve. It is als
easy to recharge by connecting the automatic refilve to the supplied adapter and an air supply. Charging takes less than
60 seconds and the pressure can be controlled by the pressure gauge on the adapter.

Code Description
B0O.400.15500 NAUTIC BAG COMPLETE KIT

The Nautic Bagonsists of a iter tank Kit code 15500 with a first stage regulator and a second stage with pressure gauge,
all in a comfortable padded nylon bag with adjustable shoulder straps.

It is commonly used oRORrescue boatsor emergency situations, such ssick anchors. The practical bag also has a
FOR'Extrair space if desired.

SANO-SUB MBBia L. da Vinci, 168 - 20090 Trezzano sul Naviglio (Mi) Tel. +39 0248490209 r.a. - sanosub@sanosub.com www.sanosub.com 16


mailto:sanosub@sanosub.com
http://www.sanosub.com/

Code

B0O.300.15200
BO.300.15201
B0O.300.15202
B0O.300.15203
B0O.300.15207
BO.300.15210

EMERGENGCUBA TANKSXYRESCUE

Oxyrescue is an easy-use devicdor the delivery of pure and compressed oxygen.

The integrated multifunction valve is made of the best materials compatible with oxygen, and is the
result of many years of research by Sanosub in this field. Its weight and limited size make it perfect

for all emergency centers, even on boats and divet@en

Oxygen cylinder 3, 5 or 7 liters

Flow reducer FOR oxygesiinders FORall sizes with suctionvalveFORcontinuous
oxygen administration from-30 L / m and high concentration mask with collection tank and

transparent silicone mask with FOR requvalvedispensing as needed.

altri attacchi disponibili a richiesta
entry25 E; 17e
output UNI- NF- DIN- BS- CGA PININDEX

Code Description

C0.400.18007 OXYGEN RESCUE TANK COMPLETE 3L WITH 1

SILICONE MASK AND BAG
C0.400.18006 OXYGEN RESCUE TANK COMPLETE 5L WITH
TWO SILICONE MASKS AND HARD
C0.400.18008 OXYGEN RESCUE TANK COMPLETE 7L WITH
TWO SILICONE MASKS AND HARD CASE

SCUBA TANKS X OSSIGENO/MISCELE ATTACCO DIN

Description

SCUBA TANKS ALLUM O2-mix 0.5L VAL. DIN
SCUBA TANKS TRATT. SUB O2mix 1L VAL. DIN
SCUBA TANKSTRATT. SUB O2mix 2L VAL. DIN
SCUBA TANKSTRATT. SUB O2mix 3L VAL. DIN
SCUBA TANKS TRATT. SUB O2mix 7L VAL. DIN
SCUBA TANKSTRATT. SUB O2mix 10L VAL. DIN

Resuscitation case

SCUBA TANKSdi ossigeno 2 litri (senza carica), Riduttore di pressione a Pistone Bilanciato con la regolazione a

Code
C0.400.18005

scattiFORl ®er ogazione del flusso in uscita. (|
cannula nasale e/o mascherina.

Description

FULL RESUSCITATION SUISTASEA TANKAMIBU, CANULES, MASKS

portagomma

AMBU, cannule, mascherina FOR adulti con venturi, mascherina Ossigeno Pediatrica, leva apertura della bocca,
pinza FOR la lingua coperta termica
IMPORTANTE:FOR le norme sanitarie I'acquirente riceve la SCUBA TANKS di gas vuota. FOR la sua ricarica,
dovrd chi amar e u nallamgndited @ssigenot or i zz at

SANO-SUB MBBia L. da Vinci, 168 - 20090 Trezzano sul Naviglio (Mi) Tel. +39 0248490209 r.a. - sanosub@sanosub.com www.sanosub.com 17



mailto:sanosub@sanosub.com
http://www.sanosub.com/

w SAN - O -SUB MBB srl

Reducer withsnapon SECOND STA®Hh mask

Balanced Piston pressure reducer with FOR jerky regulation to deliver the output flow. The hose holder can be
rotated 360° facilitating the insertion of the nasal cannula and /or mask.

Code Description

R0O.300.12206UNI DOSATORE 02 UNB@./m C/USC 5bar+Maschera
R0.300.12206DIN6 DOSATORE 02 DIN8@./m C/US 5bar+Maschera

R0O.300.12206DINSCUB DOSATORE O2 DIN 5/80)/m C/US%bar+Maschera

R0.300.12206M26 DOSATORE 02 M26X2-8D0Q/m C/US 5bar+Maschera
RO.300.12206NF DOSATORE 02 NB@./m C/USC 5bar+Maschera
C0.400.18011 SEMIMASCHERA SILICONE C/VALV. A DOMANDA
C0.400.18012 SEMIMASCHERA SILICONE TRASPARENTE

ACCESSORIESRSCUBA TANKS

HARD CASEORTRANSPORSCUBA TANKS 5 AND 7 L

Code Description
C0.100.18041 HARD CASEFOR SCUBA TANKSIt.5
C0.100.18042 HARD CASEFOR SCUBA TANKSIt.7

Custodia rigida FOR il trasporto SCUBA TANKSdalt. 5e 7
BAGFORTRANSPORSCUBA TANKS 5 AND 7 L

Code Description
C0.100.18040 Borsa FOR SCUBA TANKSda 1/2 It.
C0.100.18043 Borsa FOR SCUBA TANKSda 3 It.

bagcarrying on the shouldeBCUBA TANKS da It.1/2/3

INOX DISK MEDICAL USE

Code Description
n# o #}$) 2105 CONICAL INOX DISKFOR MEDICAL USE
_ c\ ; 2106 INOX DISKFOR MEDICAL USE
b w’ INOX DISKFOR SCUBA TANKS Medical Oxygen

SEAL CAP FOR GROUP

Code Description

C0.100.18080 SEAL FOR HOSE HOLDER GROUP
Seal capfor dosing valve group

SANO-SUB MBP/ia L. da Vinci, 168 - 20090 Trezzano sul Naviglio (Mi) Tel. +39 0248490209 r.a. - sanosub@sanosub.com www.sanosub.com 18



mailto:sanosub@sanosub.com
http://www.sanosub.com/

SAN-0O-SUB MBB srl

WY SANOSLIE.00M

s

F

Cod. artlcolo
B0O.400.15240
BO.400.15239
BO.400.15239A
B0.400.15242
B0O.400.15245
B0O.400.15244
BO.400.15248
BO.400.15251
BO.400.15254
CS.400.15916

Code
BO.400.15243
BO.400.15249
BO.400.15246
BO.400.15252
BO.400.15255
BO.400.15244A
CS.400.15916

CODE
B0O.400.15259

BO.400.15265
BO.400.15262

B0O.400.15272
B0O.400.15277
BO.400.15282

CODE

B0O.400.15264
BO.400.15274
CS.400.15915

SCUBA TANKERIA SUBTEEI200BAR

description

MONOSCUBA TANKS ARIA 5L MONOATT @ 140
MONOSCUBA TANKS ARIA 7L MONOATT @ 140
MONOSCUBA TANKS ARIA 8.5L MONOATT @ 140
MONOSCUBA TANKS ARIA 10L MONOATT @ 171
MONOSCUBA TANKS ARIA 12 MONOATT @ 171
MONOSCUBA TANKS ARIA 10L MONOATT 300bar @ 171
MONOSCUBA TANKS ARIA 12L @171 MONOATT @ 171
MONOSCUBA TANKS ARIA 15L

MONOSCUBA TANKS ARIA 18L

HARNESSCUBA TANKS DI FASE

Description

MONOSCUBA TANKSARIA 10L TWIN @171
MONOSCUBA TANKSARIA 12L @:171mm TWIN
MONOSCUBA TANKS ARIA 12L TWIN
MONOSCUBA TANKSARIA 15L TWIN @ 203
MONOSCUBA TANKS ARIA 18L TWIN 220bar @ 220
MONOSCUBA TANKS ARIA 10L TWIN 300bar @ 171
PHASISCUBA TANKIARNESS

TWINSCUBA ANKRAIRSUBSTEEROOBAR
STEEL BADSI 316

Description
TWINSCUBA TANKRIA 7+7L ISGTEEBANDS

BISCUBA TANKRIA 8,5+8,5L ISSLCEEBANDS
BISCUBA TANKRIA 10+10L ISSTEEBANDS

BISCUBA TANKRIA 12+12L @171 ISSLIEEBANDS
BISCUBA TANKRIA 15+15L ISSTEEBANDS
BISCUBA TANKRIA 18+18L 220bar ISSBIEEBANDS

TWINSCUBA TANKBRSUBSTEEROO BARBOOTS

Description

TWINTANKRRIA 10+10W/O ISOBBOOTS
TWINTANKRRIA 12+12W/0 ISOIBOOTS
COMPLETE HARNESSVIN TANKS

SANO-SUB MBP/ia L. da Vinci, 168 - 20090 Trezzano sul Naviglio (Mi) Tel. +39 0248490209 r.a. - sanosub@sanosub.com www.sanosub.com 19



mailto:sanosub@sanosub.com
http://www.sanosub.com/

SAN-0O-SUB MBB srl

W SANOSUB.O00M

ACCESSORCUBA TANKS

Code
CS.400.15929
CS.400.15932
CS.400.15932A
CS.400.15928
CS.400.15928A
CS.400.15930
CS.400.15933
CS.400.15933A
CS.400.15931
CS.400.15934

Description

INOX BANDS MONO @140

INOX BANDS TWIN TANKS @140-60mm INT.150
INOX BANDS TWIN TANKS @140-60mm INT.184
INOX BANDS TWIN TANKS @150-60mm INT.160
INOX BANDS TWIN TANKS @150-60mm INT.184
INOX BANDS TWIN TANKS@171-60mm INT 184
INOX BANDS TWIN TANKS @180-60mm INT.190
INOX BANDS TWIN TANKS @180-60mm INT.215
INOX BANDS TWIN TANKS @203 -60mm INT.215
INOX BANDS TWIN TANKS @216-60mm INT.230

SINGLE BOOFORSCUBA TANKS/C

Code

CS.400.15820
CS.400.15822
CS.400.15826
CS.400.15827
CS.400.15829
CS.400.15834
CS.400.15835

Description

BOOTS @110 FOR SCUBA TANKS 3L
BOOTS @140 FOR SCUBA TANKS5-7L
BOOTS @171 FOR SCUBA TANKS 10L 12L
BOOTS @180 FOR SCUBA TANKS

BOOTS @203 FOR SCUBA TANKS 15-18L
BOOTS @171 VERDEFOR SCUBA TANKS
BOOTS @203 VERDEFOR SCUBA TANKS

TWINBOOTSCUBA TANKS/C

Code
CS.400.15831
CS.400.15833

Description
BOOTS @140 FOR BISCUBA TANKS 7+7L
BOOTS @171 FOR BISCUBA TANKS 10+10L

PROTECTION NESGUBA TANKSYLON

Code
CS.400.15800

CS.400.15803

CS.400.15801

CS.400.15802

CS.400.15804

Description

PROTECTION NETSFOR SCUBA TANKS 10L @171 LUNG
g?lc(r)nTECTION NETSFOR SCUBA TANKS 12L @203 LUNG
gT?CgTECTION NETSFOR SCUBA TANKS 12L @171 LUNG
;?Qc(r)nTECTION NETSFOR SCUBA TANKS 15L @203 LUNG
:’??Cg]TECTION NETSFOR SCUBA TANKS 18L LUNG 75cm

ACCESSORY

Code

CS.400.15920
CS.400.15900
CS.400.15904
CS.400.15903
CS.400.15915
CS.400.15916

Description

FULL BLACK FOLDINGHANDLE

PLASTIC BACKRBSTHOUBTRAPBIONO
BACKREST WITH FIXED HARNEHSS
BACKREST WITH ADJUSTABLE HARDIESS
COMPLETE HARNESSVIN TANKS
PHASISCUBA TANKBRNESS

SANO-SUB MBP/ia L. da Vinci, 168 - 20090 Trezzano sul Naviglio (Mi) Tel. +39 0248490209 r.a. - sanosub@sanosub.com www.sanosub.com 20



mailto:sanosub@sanosub.com
http://www.sanosub.com/

